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1.Arduino 2 FE=

#include "LiquidCrystal I2C.h"
#include <Ultrasonic. h>

LiquidCrystal 12C 1cd(0x27);
Ultrasonic sonar(9, 10);

int no = 0;

unsigned long tl = 0;

unsigned long t2 = 0;

unsigned long reactionTime = 0;
int button = 0;

int distance = 0;

byte buzzPin=8;

void setup()

{
Serial. begin(9600);

lcd. begin(16, 2);

lcd. setBacklight(HIGH);

lcd. setCursor(0, 0);

led. print(String("Reaction Time"));
lcd. setCursor(0, 1);

led. print(String("——PUSH BUTTON--"));
delay(1000);
pinMode(2, INPUT);

}

void loop()
{
button = digitalRead(2);
distance = sonar. convert(sonar. timing(), Ultrasonic::CM);
Serial. println((String("distance" )+String(distance)+String("cm")));
if (distance <= 120 && distance > 90) {
no = 0;
tone(buzzPin, 2093);
delay(150);
noTone(buzzPin);
delay(600);
else if (distance <= 90 & distance > 60) {
no = 0;
tone(buzzPin, 2093);
delay(150);
noTone(buzzPin);
delay(300);
else if (distance <= 60 && distance > 30) {




no = 0;
tone(buzzPin, 2093);
delay(150);
noTone(buzzPin);
delay(50);
else if (distance <= 30)
tone(buzzPin, 2093);
if (no == 0) {
tl = millis(Q);
no = no + 1;
}
if (button == 1) {
t2 = millisQ);
reactionTime = t2 - tI;
}
I else {
no = 0;
noTone(buzzPin);
}
Serial.println((String("RT:" ))+String(reactionTime)+String("ms")));
led. setCursor(0, 0);
led. print(String((String("D:" ))+String(distance)+String("cm
led. setCursor(0, 1);

led. print(String((String("RT:" )+String(reactionTime)+String("ms
"))));

delay(50);
}
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